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Last Identity from Section 2.4:
Double-Angle Formulas (p. 243)
sin 2u = 2 sin u cos u cos 2u = cos? u — sin® u

2 tan u 2cos?u — 1

1 — tan®u

tan 2u =
=1—2sin*u

These are proved by the angle sum formulas, covered previously.

Sum and Difference Formulas

sin(t + v) = sinu cos v + cos u sin v

sin(u — v) = sinu cos v — Cos u sin v
coslu + v) = cos i cos v — sin u sin v
coslu — v) =cosucosv + sinusinvy
tany + tan v tanu — tan v
tan(u + v) = tanlu — v) =
1 — tan u tan v 1 + tan u tan v

Here's a Cheat Sheet with all that stuff and more, EXCEPT for the tangent formula,
above, because I wanted students to bootstrap from cosine and sine. But you may
certainly add that one to your cheat sheet, because it can be faster.....

https://harryzaims.com/122/122-fall-22/cheat-sheet-test-2.pdf
®


https://harryzaims.com/122/122-fall-22/cheat-sheet-test-2.pdf
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Consider the following.
Function Trigonometric Equation
f(x) = 4 cos?(x) — sin(x) —8 sin(x) cos(x) — cos(x) = 0
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Product-to-Sum Formulas
Sum-to-Product Formulas

sinusiny = ;[cos!u v) — cos(u + v)] u+v 2 — v
< sinu + sinv = 2sin cos )
2 \ 2
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COS U COSV = ;[cus(u v) + cos(u + v)] (u + v =Ty
= cosu + cosv =2 u)s( ) cm( )
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Solve the equation. (Find all solutions of the equation in the interval [0, 2m). Enter your answers as a comma-separated list.)

8 sin(2x) sin(x) = 8 cos(x)
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8. + 0/3 points LarTrig10 2.5.024. [38!

Use the given conditio find the exact\alues of sin(2u), cos(2u), and tan(2w) using the double-angle formulas.
sec(u) =—-f, mnf2<u=<m
\\ = Skt )= -2

sin(2u) = - —_
¢ |72 _L
. eos ()= -3
cos(2u) = —%
b4 &
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